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11.

12.

13.

1.6 dollars or §dollars
"~ pound 5 pound
2
E

miles
éallon . hours

. 0
mlle% our gallor

7.33%

o | &

@)

c c
X>—-—or [—-—,
f e

5518

1.4

37 or 37,000
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15.

16.
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18.
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22.

23.

24.

25.
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b+c

p(x) =3x(x-2)(x+2)°

= or
4 log2-1 1-log2

(0.9)*1, or 0.65611,
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1. a. i. The slope will be m =-4 so the line willbe y-12 =-4(x-3) or y = -4x + 24.

ii. The points (2, 3.65) and (10, 6.45) are on the line, Its slope is m = 28 =0.35.

1.

b. i.

b.

ii.

iii.

1il.

il

i.

.

~.

8
Therefore, C -3.65=0.35(n-2) or C =0.35n+2.95.
. k-0 k k
The slope is m = =—. Therefore f(x)=—x.
c-0 ¢ c

We have 10/ +15K =60, so K = 4—%].

The horizontal intercept, 6, represents the number of pounds of Italian coffee

one can purchase if no Kenyan coffee is purchased.

The slope tells us that for every 3 Ibs. of Italian coffee bought, 2 Ibs. less of
Kenyan coffee can be bought.

. ¢=1200-3p =0— p =$400/ chair.

il

R = p(1200-3p) = -3p% +1200p

= =3(p? - 400p) = =3(p? - 400 p +40,000) + 120,000

= =3(p -200)? +120,000.
Therefore, $200/chair.

. r=200t. ii. A=mr? =m(200¢)* = 40,0007,

6,157,521.601 = 40,0002 —> ¢ = \/M ~ 7 hours.

40,0007
M(t) = Moe™ 0%

12¢
0.02

Viey=V,y|1+—— }

() o( 12)

—40° F ; this is the initial temperature of the sample.

After a long period (¢ — ) H(¢) — 30; this corresponds to the horizontal
asymptote.

iii. 20 = 70 (1 _ 005t )- 40

2—0.05l

1

7

__ log(1/7) or log (1/7)
0.05log?2 0.05(10g0.5)

=~ 56 minutes.



4.a. $15 b. $190.40 ($206 — 15.60 discount)
c. i. $15
ii. It is the original price of an order whose final price is $15
X if 0=x<70
d f(x)=1x-15 if 70 <x=<200

x-[15+0.10(x-200)] if x>200
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5.a. 2cos’f=3sinr+3 b. e(53x)=ex eo(5) =e"
2(1—sin2t)=3sint+3 537 = o1 oz e =(£)x
2sin’ £ +3sin7+1=0 ixinS x 11
(2sint +1)(sint+1) =0 X n5—x1=— =x1n(5£3),
sint=—% or sint=-1 =_31n5—1=1—31n5. re | 1
7 lix S n(5)

6 6 2 >
. JT .
6.a. i y=—SCos(Et)+6. or the equivalent
ii. On average, the ranking is 6.
b. i y=6cos(2§t)+10.
ii. 8=6cos(2—ﬂt)+10
3
1 2
—-—=cos| —t
(5]
3 1
t =—arccos| ——
2 ( 3)
3 1 3 1
f, = —arccos| —— ty =3 ——arccos| —— |.
2 ( 3) 2 ( 3)

7.a. k=2, p=-4, q=6, r=-2, s=3.

b. i. The graph of f(x) concave up. The rate of change is increasing.

ii. b—(b-3)=3b-(b-3)
2b=6—=b=3.
iii. If =0 then g(0)=0 and g(-2)=0.
Therefore, g (x) would not have an inverse.
3



